BC Calculus – FDW 3rd Edition – Section 4.6 Even Answers

Quick Review 4.6
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Section 4.6

2. 
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   8. 
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   10.(a) 2 m3/s (b) 0 m2/s (c) 0 m/s
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, but 
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, so if dV/dt is proportional to surface area (S), then we have 
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  14. 20 ft/sec

16.(a)
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20. 1/16 ft/min   22. 11 ft/sec   24.(a) -46 cm/s  (b) 2 cm/s  (c) -88 cm/s  26. 2/5 radian/sec

28. -5 m/s   30. -1500 ft/sec   32. 80 mph   34. -6 deg/sec  

36. True. 
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38. A   40. C   42.(a) 
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46.(a) 
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  (b) CCW motion, when t = 5 sec, vx = 0 ft/s & v​y = -18.850 ft/s
when t = 8 sec, vx = 17.927 ft/s & vy = 5.825 ft/s

Quick Quiz – Sections 4.4 – 4.6

2. B   4.(a) 
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. Use this slope and the point (25,5) to get the linearization (tangent line!): 
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Chapter 4 – Review Exercises

2. none  4.(a) 
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 (c) (-2,0)  (d) (0,2)  (e) max: (-2,0),
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   6.(a) 
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 (d) none  (e) min at (1,0) (f) none

8.(a) 
[image: image32.wmf]1

3

,2

-

æù

-¥-

ç

ú

èû

 (b) 
[image: image33.wmf]1

3

2,1

-

ö

é

-

÷

ê

ë

ø

 (c) 
[image: image34.wmf]1

3

,2

ö

æ

-¥-

ç÷

è

ø

 (d) (-1.260,1) (e) max (-.794,.529), min (-1.26,.42)
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(e) max (1.732,.183), min (-1.732,-.683)  (f) (-2.584,-.573), (-.706,-.338), (3.290,.161)  12.(a)
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 (c) (.542,1.266), (1.876,2.600), (3.425,4.281), (5.144,6.000)  (d) (0,.542), (1.266,1.876), (2.600,3.425), (4.281,5.144), 
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 (e) max (.176,1.266), 
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, (2.965, 1.266), 
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 min (0,1), (.994,-.513), (2.148,-.513), (3.834,-1.806), (5.591,-1.806)  (f) (.542,.437), (1.266,-.267), (1.876,-.267), (2.600,.437), (3.425,-.329), (4.281,.120), (5.144,.120), (6.000,-.329)
BC Calculus – Section 4.6 Even Answers (continued)

14.(a) 
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(e) max at (1.692,20.517), min at (-.578,.972)  (f) Inflection Point: (1.079,13.601)

16.(a) 
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 (c) 2 < x < 3.710  (d) x < 2, x > 3.710 

(e) max at (.215,-2.417) (f) I Point: (3.710,-3.420)

18.(a) at x = -1 (b) at x = 2 (c) at x = ½   20. 
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24. 
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   26. s(t) = 16t2 + 20t + 5   28. 
[image: image53.wmf]2

4

()22

Lxx

p

=-+


30. L(x) = 2x + 1   
32.(a) T  (b) P   
34. 24th day   

36.(a) Absolute min = -2 at x = 1, Absolute max = 3 at x = 3  (b) None  (c) 

38.(a) v(t) = -3t2 – 6t + 4  (b) a(t) = -6t – 6  (c) Initial position: s(0) = 3 m,

Initial velocity: v(0) = 4 m/s, acceleration is always negative, so there is 

a force pushing to the left at all times past t = 0 sec. When t = .528 sec and 

s = 4.128 m, the particle changes directions and heads back left.
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42. x = .828361   
44. 1162.5 m   
46. 54 units2 

48. Base is 4 ft by 4 ft, height = 2 ft   
50. r = h = 4 ft   
52. 29.925 square units   
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56.(a) .765  (b) when 
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58. -40 m2/s   
60. Increasing 1 cm/min   
62.(a) 
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64. Not enough speed, so duck!   
66.(a) within 1%  (b) within 3%
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68. Height = 14ft, estimated error = 
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70.(a) relative max when x = -2, where the derivative goes from + to – .

     (b) relative min when x = 0, where the derivative goes from – to +.

     (c) concave up for  -1 < x < 1 and 2 < x < 3, where
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72.(a) maxV when 
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     (b) 
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           Hence 
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. With domain for ‘a’, 0 < a < 30, use the  

           first derivative test (number line or sign chart) to show an absolute max at a = 20. 
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